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MULTIFLE CHOICE., Choose the one alternative that best completes the statement or answers the question,

1} An unknown element is found to have three naturally occurring isotopes with atomic masses of
35,9675 (0,337 %), 37.9627 (0.063%), and 39,9624 (99.600%:). Which of the following is the unknown element?

Al Ca
Bl K

Ciel
D) Ar

2} The combustion of carbon disulfide in the presence of excess oxygen vields carbon dioxide and sulfur dioxide:

Cs2(g) + 302 (g) = CO2 (g) + 2502 (g) }
The combustion of 15 g of C52 in the presence of excess oxygen yields g of 507 i
Al 6.3 B 13 C) 6.5 x 102 L) 25 !

3) The compound NHgClisa _
A) strong base
B} weak base
) stroag, acid
B} weak acid

4} Sodium does not cocur in nature as Na (s) because .
A} it is easily reduced to Na®
Bl it 15 easily replaced by silver in its ores
) it reacts with water with great difficulty
[V it is eastly oxidirzed to Nat

5) AH for the reaction
IF5 (g) = 1F3 (g} + F2ig)
i k), give the data below.
IF (g} + Fa (g} — IF3g) AH = =390 k]

[Fig) + 2Fa(g) — IF5(g} AH=-745Kk)

A +1133 B} +35 ) +355 0 -1135
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| 6) The energy of a pheton that his a wavelength of 9.0 m is 1
A)4.5x 1029 B) 2.2 x 10-26 C)60x 103 D) 4.5 x 10~
7} In the Bohr mode! of the atom,
A} electron energies are quantized
B) electrons can have any energy
) electrons trave! in circular paths called orhitals
D} electron paths are controlled by probability
R} The quankum number defines the shape of an orbital.
A) azimuthal B) psi C) spin D) principal
4) The subshell contains only one orbital.
Al 45 B) 3d Clip D) &f
10) How many quantum numbers are necessary 1o designate a particular orbital in an atom?
Al 4 B) 5 )3 D)2
111 Which ion in the isoelectronic series below has the smallest radius in a crystal?
| A) A1 B) Ma* C)F ) N3
’ : 12} The list that correctly indicates the order of metallic character is
3 AYF=C =5
BIP =N =0

CiP =% = 5.
D1Ma = K = Rb

13) Which alkali metal reacts with oxygen o form the oxide, M0?
AbLa B Cs CIEbR D Na

14} Crides of most nonmetaks combine with water to form i
Al h],-'rimgun gas

Bl a hase

) waker
¥ am acid

=T

15) OF the following chemical forms, . are ot commenly found m ceramics

A nilrates B silicates ) aluminates ) ouddes

16) Which eme of the following substances is more likely to dissolve in benzene (CeHpH
A) CCly W) CHaCH2OH C) HBr % NH3
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17} The phenomenon used to differentiate colloids and rue solutions is called the effect.
A} Osmotic B} Tyndall C) Henry D) van't Hoff

18} The reaction below s first order in [HpO3]:
IHol 1) — ZH20() + Oz (g)
A solution originally at 0.600 M H2O2 is found to be {.075 M after 34 min. The half-life for this reaction is

it
Al 18 B) 28 C) 54 D) 6.8

19} Consiclor the following equilibrium.
2500 1(g) + Oalg) = 2505 (g

The equilibriutm cannot be cstablished when is fare placed ina 1.0-L container.
A) 0,25 mol 507 {gh and 0.25 mol O (g
B) 0.75 mol 500 (g)
) 0,50 mol O (g} and 0.50 mol 503 (g)
¥ 1.0 ol 507 (g)

200 Of the following, which is the strongest acd?
A)HF Bl HCIO CiHCL ) H1

21) The standard cell potential (E"qel)} for the reaction below is +H163 V. The cell potenti al for this reaction is
Y when [ Ze2t] = 1.0 M and {Pb2+] = 2.0 = 10-4 M.

Pid~{ag) + Znis} — Znd* (ag) + Phis)
A) 052 B 074 C) .85 ) 063

22) The octane number of straight-run gasoline is about
A) 50 B) 75 Ch93 oo

23) How many hydroxyl groups are in a glycerol molecule?
A} 0 Bl 1 Q2 3

T ———————~.
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24) The compound below is almy

H (B H
L |
H— C-— C— 0— C—H

H H

A) amine

B) carboxylic acid

) aldehyde

D eslier

25) How many isamers of CzHpClp are pular?
Al none
Bl
Cy2
[ 3




